
IN231000359V01_GL

T
o

o
ls

 R
e

c
o

m
m

e
n

d
e

d

840-200_840-210_840-210V01

840-210V02



1

①  1 ②  1

③  1 ④  2

⑤  4 ⑥  8 ⑦  4

⑨  4⑧  4 ⑩  8



2

EN_Warning : When moun ng the awning, keep the main part and stand column on 
the horizon,or the fabric will deforma on and difficult to open and close.
FR_Avertissement : Lorsque vous montez le store, gardez la partie principale et la 
colonne de support à l'horizon, sinon la toile se déformera et il sera difficile de 
l'ouvrir et de la fermer.
ES_Advertencia: Cuando monte el toldo, mantenga la parte principal y la columna 
de pie en el horizonte, o la tela se deformará y será difícil abrirla y cerrarla.
PT_Aviso : Quando montar o toldo, mantenha a parte principal e a coluna de pé no 
horizonte, ou o tecido irá deformar-se e será difícil de abrir e fechar.
DE_Warnung: Wenn Sie die Markise montieren, halten Sie den Hauptteil und die 
Standsäule am Horizont, sonst wird der Stoff deformiert und lässt sich nur schwer 
öffnen und schließen.
IT_Attenzione: quando si monta la tenda, tenere la parte principale e la colonna di 
supporto all'orizzonte, altrimenti il tessuto si deforma e diventa difficile da aprire e 
chiudere.



3

EN_1.Fix the brackets(x2) on the product with M6x14 screws(x4) and φ6 washers(x4)
FR_1. fixer les supports (x2) sur le produit avec des vis M6x14 (x4) et des rondelles φ6 
(x4).
ES_1.Fije los soportes(x2) en el producto con tornillos M6x14(x4) y arandelas φ6(x4)
PT_1. fixar os suportes (x2) no produto com parafusos M6x14 (x4) e anilhas φ6 (x4)
DE_1. befestigen Sie die Halterungen (x2) mit M6x14 Schrauben (x4) und φ6 
Unterlegscheiben (x4) am Produkt
IT_1.Fissare le staffe (x2) sul prodotto con viti M6x14 (x4) e rondelle φ6 (x4).

EN_2.Mark the place where you want to be installed and drill 4 holes
FR_2. marquez l'endroit où vous voulez installer le produit et percez 4 trous
ES_2.Marque el lugar donde desea que se instale y perfore 4 agujeros
PT_2. marcar o local onde pretende ser instalado e efetuar 4 furos
DE_2. markieren Sie die Stelle, die Sie installieren möchten, und bohren Sie 4 Löcher
IT_2. Segnare il punto in cui si desidera installare il dispositivo e praticare 4 fori.

EN_Drill holes 6 cm deep in the places marked with a pin that has a diameter of 10 
millimeters.
FR_Percez des trous de 6 cm de profondeur aux endroits marqués avec une épingle d'un 
diamètre de 10 millimètres.
ES_Perfore agujeros de 6 cm de profundidad en los lugares marcados con un alfiler de 10 
milímetros de diámetro.
PT_Faça furos de 6 cm de profundidade nos locais marcados com um alfinete de 10 
milímetros de diâmetro.
DE_Bohren Sie an den markierten Stellen 6 cm tiefe Löcher mit einem Stift, der einen 
Durchmesser von 10 Millimetern hat.
IT_Praticare dei fori di 6 cm di profondità nei punti segnati con uno spillo del diametro di 10 
millimetri.



4

EN_3. Hammer the φ10x50 plastic anchor bolts(x4) into the holes
FR_3. Marteler les boulons d'ancrage en plastique φ10x50 (x4) dans les trous.
ES_3. Martille los pernos de anclaje de plástico φ10x50(x4) en los orificios.
PT_3. Martele os parafusos de ancoragem de plástico φ10x50 (x4) nos orifícios
DE_3. Hämmern Sie die φ10x50 Kunststoffanker (x4) in die Löcher
IT_3. Martellare i bulloni di ancoraggio in plastica φ10x50 (x4) nei fori.

EN_4. Fix the product with M6x60 screws (x4) and φ6 washers (x4)
FR_4. Fixer le produit avec des vis M6x60 (x4) et des rondelles φ6 (x4).
ES_4. Fijar el producto con tornillos M6x60 (x4) y arandelas φ6 (x4).
PT_4. Fixar o produto com parafusos M6x60 (x4) e anilhas φ6 (x4)
DE_4. Befestigen Sie das Produkt mit M6x60 Schrauben (x4) und φ6 Unterlegscheiben 
(x4)
IT_4. Fissare il prodotto con viti M6x60 (x4) e rondelle φ6 (x4).



5

EN_5. Fixing the standing pole
FR_5. Fixation du mât
ES_5. Fijación de la pértiga
PT_5. Fixação da vara de pé
DE_5. Befestigung der Stange
IT_5. Fissaggio del palo di sostegno



6

EN_Pull back the hand shank a little and lift it up.

The fabric will draw back and fold.
FR_Tirez un peu sur la tige de la main et soulevez-la.
Le tissu va se rétracter et se plier.
ES_Tire un poco hacia atrás de la caña de la mano y levántela.
El tejido se retraerá y se doblará.
PT_Puxar um pouco a haste da mão para trás e levantá-la para cima.
O tecido vai puxar para trás e dobrar.
DE_Ziehen Sie den Handstiel ein wenig zurück und heben Sie ihn an.
Der Stoff wird sich zurückziehen und falten.
IT_Tirare leggermente indietro il gambo della mano e sollevarlo.
Il tessuto si ritrae e si piega.



7


	页 1
	页 2
	页 3
	页 4
	页 5
	页 6
	页 7
	页 8

